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Attempt any Nine (9) parts of the following. Each part carries equal marl:s

"Section-B""

Convert 123 - 0% ln to a common ﬁ'actlon

Slmplify with the help of the laws-of exponents (l—-;;; . TT:) .

Wagas paid Rs. 1650 as Zakat, Find his aavings
The cost of 15 eggs is Rs, 75. How much 3 doze.n eggs will cost? .
Ahmad purchnsed a bicycle for Rs. 850 and sold it for Rs.960, Find his profit or Ioss
A man deposits a sum of Rs, 5 lack in a bank for which he gets Rs. 5 thousand per month. Calculate the pfoﬁt‘mte.

If a worker is paid Rs, 150 a daily wage, Calculate his income for a week, month and year if he works 6 days aweek, .
A factory worker is given 15% increase in his salary, If he was getting Re, 9600 per month how muchwill he get after

. the increase?
Find the value ofx. log, 625 = 4

 Insert two arithmetic mean between 10 and 16,
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(x) Simplify with the help of logarlthm. (32.4)(63.75)

If the arithmetic mean between two numbers Is 8 and geometric mean is V60 . Find the numbers.

' "Secuon—(]"

IFA= {12)andB—- {34}thenﬂnd AXB,

BXA, AxA

Aﬁempt any’l'hree (3) questions. Each question carrieseqtmlmnrks
“If A’ {a,b,c}and B = {a,b} then find AUBandAnB,

BxB

. Draw (with the help of graph) a triangle ABC by }oining the points A(-2,3) B(4,2) C(1 —3)

Calculate the arlthmetic mean by direct method from the follawing data,
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